ABIE

JERER &

A5 | skt | ARKE | pupAss | gEan | FEARE
1 £ R ERTE ﬁé%%i FFL 1 1957.5
2 £ R ERTE ﬁ%%%g F7 L 1 682. 71
3 £ R EHTE ﬁ%%%g pUE=JEY 1 1148. 83
4 kR R frid ﬁé%%i [ o 1 494. 29
5 kR R frid %é%%g- Ko 2 3915
6 £ R ERTE ﬁ%%%g- F K 1 1957.5
7 AR ERE ﬁé%%g FEX 1 1812.5
8 eppmn | TEERE L g : 1450
9 eppmg | TEEER L mEs 3 5220
10 eppmn | REELE L #R 1 1957.5
T sppmg | TEEER L wmn 3 2572. 51
12 kR R Bt ﬁ%%%g_ i 1 1957. 5
13 eppmg | TEERR L ks : 1957.5
14 k7 piE ﬁ%%%g %A E 2 3262. 5
15 eppmin | TEELR L man 2 3262.5
16 kR R frid ﬁéigg IEHR 2 3262. 5
17 X 92 %éigg_ A & 1 1450
18 £ R EHTE ﬁéigg_ X 1 1450
19 expmn | TEELE L aak : 1812. 5
20 expmn | REELE | max ! 1350
21 X2 %éigg #5 1 1450
22 £ R ERTE ﬁ%%%g o T 2 3262.5
23 £ R ERTE ﬁ%%%g_ a% 2 3262.5
24 Expsg |BAEEE L : 1450




25

%iiﬁ[
ERERE

5

1029. 32

26

%iiﬁ[
ERERE

KR AR

4712.5

27

%iiﬁ[
ERERE

A R B

1450

28

%iiﬁ[
ERERE

HRAL

3798. 65

29

%iiﬁ[
ERERE

FREA 5%

1450

30

%iiﬁ[
ERERE

I

6425

31

%iiﬁ[
ERERE

RA L

1450

32

%iiﬁ[
ERERE

#m

1350

33

%iiﬁ[
ERERE

¥

1091

34

%iiﬁ[
ERERE

TR

3626. 89

35

%iiﬁ[
ERERE

s

1957.5

36

%iiﬁ[
ERERE

53 IR

1957.5

37

%iiﬁ[
ERERE

H#F

3770

38

%iiﬁ[
ERERE

* 15 5%

3770

39

%iiﬁ[
ERERE

1350

40

%iiﬁ[
ERERE

3407.5

41

%iiﬁ[
ERERE

7032.5

42

%iiﬁ[
ERERE

3625

43

%iiﬁ[
ERERE

1046. 29

44

%iiﬁ[
ERERE

PURES

5075

45

%iiﬁ[
ERERE

£

2715. 31

46

%iiﬁ[
ERERE

3 3 22

1957.5

47

%iiﬁ[
ERERE

v

o

5918. 99

48

%iiﬁ[
ERERE

e

1290. 8

49

%iiﬁ[
ERERE

RS

7032.5

50

%iiﬁ[
ERERE

7t &

4612. 51




51

%iiﬁ[
ERERE

3625

52

%iiﬁ[
ERERE

3072. 52

53

%iiﬁ[
ERERE

1816. 55

54

%iiﬁ[
ERERE

5437.5

55

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1957.5

56

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1957.5

57

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1957.5

58

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1957.5

59

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1450

60

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1450

61

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1350

62

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

4350

63

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1350

64

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1812.5

65

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1350

66

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1450

67

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1450

68

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1349. 04

69

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1812.5

70

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

3262.5

71

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

3088. 62

72

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

4412.5

73

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

4975. 01

74

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1957.5

75

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

710.17

76

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

1687. 77




77

%fﬂﬁE
}E’:;‘F&-x‘ﬁ'

2647. 68

78

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1812.5

79

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

80

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1183. 47

81

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

82

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

83

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

84

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

811.59

85

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

86

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1125.5

87

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

88

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

3770

89

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

90

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

4612. 51

91

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

4712.5

92

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1450

93

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

94

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

3452.5

95

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

3452.5

96

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

3062. 83

97

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

4712.5

98

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1662.5

99

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

100

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

2900

101

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

5075

102

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1450




103

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1812.5

104

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

3407.5

105

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1450

106

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

107

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

3915

108

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1957.5

109

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

3860. 18

110

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

2946

111

Ejlzs‘ﬁiﬁ[
}E’:;‘F&-x‘ﬁ'

1450

112

AL E AL X
ERER &

3262.5

113

L EAER
ERER &

D\

1957.5

114

|

EHEHR
JERER 2

/-

i
>\>

1812.5

115

|

EdEAR
JERER &

N

1662.5

116

|

EdEAR
JERER &

N

1957.5

117

|

EdEAR
JERER &

N

694. 94

118

|

EdEAR
JERER &

N

1957.5

119

|

EdEAR
JERER &

N

1957.5

120

|

EdEAR
JERER &

N

1812.5

121

|

EdEAR
JERER &

N

1812.5

122

|

EdEAR
JERER &

N

1812.5

123

|

EdEAR
JERER &

N

1450

124

|

EHEAR
JERER &

N

4712.5

125

|

EdEAR
JERER &

N

2691.18

126

|

EdEAR
JERER &

N

1350

127

|

EdEAR
JERER &

N

1350

128

|

EdEAR
JERER &

N

1812.5




N~ N~ ™ . N N~ ™ N N N~ N~ N Tp] . o < N~ N N N~ T] N~ N~ o~ N N
o 0 0 o~ ~— 0 I~ N o0 o™ N O ~— < ™ o~ N~ O ~ 0 < o 0 — ~— ~—
0 o~ N <t o0 o~ O 0 0 < N~ (sp) ~ o I~ o (sp) o0 o~ ~ <t o~ N N~ o0
— le's] — — s To! To) To) -— o ~ — -— ™ -— -— < -—
(sp) ~ N ~ ~ ~ N (sp) (sp) (sp) (sp) N ~ ~ N ~ N N ~ ~ ~ N ~ ~ (op] ~
e I I o e R T - IO O e e o e O B A B < B = N b o | g |
BRI A R B A A A R A R A A AR Y A N
S L I R o e B LM R A RO T | K| | X S U
e B e R B e e e e B e A B e e e R R B e e e o e B e B R e e B e R B e B e R S e R e B
o o e R e R e A e R e R e A e e Rl e A o e Rl e A o e R e A o e R e o) A e o] R ) A e R e
By| (K 2% B k| B k| B k| B K 2% By| (K 2% B k) ] | ] ke 2% 2% 2% 2% 2% 2% 2% 2% 2% 2% 2% 2% 2% By| (K
A5 | 45 1| 4B | B | 4 | 4B | B 1| 6 | 4B | 4B 1| 6 | 4B ] 445 | 445 1] 44 ] 445 | 445 ] 445 ] 4% | 445 | 445 ] 4o | 445 1| 44 ] 4o | G
A 18 g 8 g g 4y e 5% 5% e ] 4o 15| e ] e ] A ] ] ] o) 4 b e ] e ] A ] A ] A ] e ) e bt e ] e ] e ] A ] A
S| odm) | o) | o) | k) | o) | o) | o) | e | ) | ) | i) o) | o) | o) | e | dke) | ) | o) | ) | e | o) | e | ) | ) | )
T = = O < = =B = B = O = s < O =~ B I~ B = = S e = N =« I~ = = = A = B = B = O = B B
| | K| | K| K| K| K| | KR | KR R R R R R KRR K K] K| K
S e T e T T A T O e e L e N e L O O e L e L I e I e S I e A e N I N N R A N N
o~ o ~ N (a2} <t 0 O N~ o0 o~ o ~ N o™ <t 0 O N~ [e0) o~ o ~ N ™ <
S B A O B S B o B S ) R




ol ol ol @ w J| | v | X o Sl ol 5 w|l w|lw|lwo|lw|lowo|w|lwo|~| vl o|uwo
Rl 2 B3 Nl ol gl N o]l QI ol Sl NN & & N ] T ] =]
o [o'e] <t Yo O < o) Yo o O ™ [o'e] I~ O Yo Yo — — — Yo — o — O Yo Yo
0 o0 ~— o~ N o~ Te) o~ = (9] ™ <t < (sp) o~ o~ ~— o0 o0 o~ o0 <t o~ N o~ o~
-— ™ > ~ -— ~ 3 lo'e} J -— -— -— — — — — ™ N~ ™ -— -—
™ wn ~ ~ N N N ~ N N ™ ~ ™ (] ~— ~— ~— ~— ~ ~ ~— (] ~— N ~ ~
R o@n wl mﬂf J A = MM ,@l &W ) ¥ ot Ll bA: n,_M.. i ,,k ,ma .fﬂ. | — mw_m . \,ﬂ
I IR IR I R IR I IR IR I IR A I A A
R | oW | T S I R | oW | % | | | %] | B I R I -
e B e R B e e e e B e A B e e e R R B e e e o e B e B R e e B e R B e B e R S e R e B
x| R e R o o) Al | Rl e R o] R e e e o R e nd e R e R e R e e o R o A e R o] R o] o] | | o
By WK @%A @%A @%A @%A B K @%A @%A @%A B K @%A @%A @%A @%A @%A Bl | el | o] kb ] k| B o] el ] ] | ] k) e k) B o) ]
45 | 445 | 45 | 445 ]| 440 ] 445 | 45 1] 445 ] 445 | 45 1| 445 ] 445 | 45 | 445 ] 128 | 126 | 16 | 18 | 126 | 1% | 8 | 126 | 1% | 18 ] 126 | RS
S 18 ] 8 e ) e 0] g 0] e ) 4 ) 4 1) N ) S ) S ke A% el 4o | 11 | 1| | 0 ] | ek nde o g 1 ] 1 | 1| | ] | nde] | nd
s | o) | o) | o) | o) | o) | o) | o) | ) | k) | k) | ) o) | o) | o) | ) | k) | k) | o) o) | o) | o) | ) | ) | ) | )
B = B S O = = B =B =« < O = = B =~ B =« L = O = = =~ B =« = B = = <~ = B R < = B = B =
| | | ||| K] R R R KRR R R R R R R R R R ] R
O R B B O B T L IO T O O A R B L A L I O O X N O B N B A N O B B IR
Tp] O N~ o0 o~ o ~ N ™ <t 0 O N~ [0 0] o~ o ~ N (sp) <t 0o O N~ o0 o~ o
Tp] Tp] Tp] Tp] Tp] O O O O O O O O O O N~ N~ N~ N~ N~ N~ N~ N~ N~ [ o0




Tol w| | | | L| L] WL ~ | © w| v| ]| v]| W w| S| Q] =
~— <t < ~— ™ Lo Lo ~— [0 0] O o N~ 0 o~ 0 O 0 ~— 0 O < ~ o) ~ N <t
[0 0] ~ ~ [0 0] — o~ o~ o0 0 N ~— ~— o~ N o~ N o~ N~ o~ (9] ~— o0 o~ I~ N ~—
— — — — — — Vo) ™ o0 — — ™ — <t -— -— < — o~
~— ~— ~— ~— ~— ~— ~— ~— ™ (] ~— ~— ~— (] ~— (] ~— ™ ~ N ~ ~— ™ ~— ™ ~
9 | w | | R| B|F (I e O T o O B T S T W | o | g X| K 2
2) 3 - e s W < (22 +< 2aY < 3 [y : = +<
MR IR I I IR R I I A I I I - I A
S T = I -3 | R K| | ] M| e R W RN R T | ] ]
e e B A e e R e e R R e R o e e o A o B e B e R e B e e B e R I e R It R It R
Ao Al o] R o Rl o) A | Rl o) A e R e Al o] o R o) A e R o) R o) e o] o R o) A e R e A o) o Al o] o R o) A
B KK wf% B k| B k| Bl o Bl ) B ) B ) B K wf% Bl k| Bl ki) Bl ) Bl ) B | B ) B ) ] | ] | ] o) ] wf% B k| B k| B k| B K
Sl B S B L R o S B o e I o B R R S - o S o B S S - e B S SR L g
kel 1|l vk |t v o e ] e ] e ) ) o ) g ) Al ) Al ) Al ) Kl e
E A A A A A~ A~ A~ A~ A~ A~ A = A = A = A = A = A = A = A = A -~ A < A T~ A T~ A O~ A T~ A B
= O e = B = O =~ B = B = = B e = I~ O e =~ B = O B = < B = = O e <~ = <~ B = < B = = B << B |
| | K| || K KRR KRR R KRR R R KRR K] K] K
T I O O S S Ot IRt [ R S i B U QU R N IS R
~— N ™ <t L O N~ o0 o~ o ~— N o <t Lo O N~ o0 o~ o ~— N (9] < Tp]) O
[o0] [o0] [o0] [o0] (o 0] [o0] [o0] [o0] (e 0] o~ o~ o~ o~ o~ o~ o~ o~ o~ o~ o o o o o o o
~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— ~— N N N N N N N




Rk AL X

207 f2 K MriE ERER A ATE 1041. 71
<, 7 7k s
208 K ERTIE %gf?g R AR 5075
209 X Ix gﬁf?g sk 3770
210 X 92 Eéf?i i 28 3625
‘ 0 E AL
211 K E B8 E%iéﬁ TKAR 1148. 83
=
| MREEAL
212 £ R R B z%iéﬁ KA K 878. 69
=
| HRBEA
213 Z R ERTIE B%iéﬁ B 1812.5
=
| RBEA \
214 R ERTE Eﬁiéﬁ ITEF 2850
=
| ARmEA
215 LR JE B E%iéﬁ IR F F 1450
pay
| RmEa
216 R R E%iéﬁ A & 1450
Y
| REEAL
217 f KRBT z%iéﬁ A Ha A 3262.5
=
| MREEAL
218 LR ERTE E%iéﬁ RiAEZ 3262.5
=
| HRBEA
219 Z R E BT B%iéﬁ = 1450
=
| HRBEA
220 LR JE P Bﬁiéﬁ 5 A B 2671.52
=
‘ A G 2 At
221 R ERTE E%ﬁéﬁ TR EBAL 6887.5
pay
| RmEA
222 R EMTIE E%iéﬁ A% W R 4122.52
Y
0 E AL
223 K ERTE B%i%ﬁ 2= 5 i 3262.5
=
| MREEAL
224 £ R BB z%iéﬁ I 1, 5582.5
=
| HRBEA
225 LR EpBria FApad 4350

X &R %R
A




., it [X _
226 VX% 2 %&§ﬁ§ k= 2391. 76
s ok ALK .
227 R HE géi%% # R/ 2685. 66
., e AR =
228 AR EHE géi%%- ) F 1957. 5
., R ¥ AL X o
229 AR AT géi%% EXY 1712.5
<, R ¥ AL X .
230 VX% 2 ggig% K Fo P 3770
., e AR .
231 AR EHE ggig% I b, 2814. 3
., ok EAR
232 VX 92 5] géi%% AR & 3262.5
> 7 1“ ;‘/\ ‘ix :H—
233 VX% i géi%% 3 3625
., R ¥ AL X 5
234 VX% 2 ggig% A5 1812.5
., ik E A X S
235 VX% 2 géi%% X 3k 2931.92
>~ 2 1“ ;‘/\ ‘ix N
236 R EpiE ggig% AihA 1450
., ok EAR
237 VX% ggig% HED 1957.5
., e ¥ AL X o
238 R i piE géigé I¢E 3770
., ik E A X ,
239 VX 9% 5] géi%% A 3407.5
., ik E A X , o
240 VX% 2 ggig% 14 43 1957. 5
S 2 - o~ 1“ ;‘/\ ‘ix
241 VX% géi%% E1% 1450
| mmeza |
242 2R EHTiE E%i%m R, AL 724. 44
=
BER RS .
243 £ R Brig E%iém ERTE S 2690. 2
=
rmeza|
244 £ R E frik E%iém ¥ A 1957.5
=
RET
245 AR EBTIE BE;&\ZJ} n & A 1812.5
s
| Az
246 2R )R8 E%iém JE% 1712.5
pay
REZ TN
247 ERERE E%iém = 3| 1512.5
Py
| Hmeza -
248 R ERTE % #) £ 3770

X &R & R
N




R 2 AL

249 R ERTE B%i%ﬁ ITRE 1812.5
=
| REEA
250 Z K JEHriE E%iéﬁ K 1957.5
=
| TRm 2
251 Z KR8 B%iéﬁ A 3770
=
_ | AR 2 AL
252 R ERE Bﬁiéﬁ Figd 1812.5
=
‘ | AR 2 AL
253 2R )EHriE E%iéﬁ Kk 2583. 42
pay
| HiRmEs
254 AR EHE B%%éﬁ TR Ak 3262.5
Py
‘ | AR A ‘
255 R EHTiE B%i%ﬁ 7K R A 1450
=
| REEA
256 Z K JEMriE E%iéﬁ B0 2544.5
=
| TRmEA
257 R ERTE E%iéﬁ % H % 1812.5
=
_ | AR 2AL
258 KR8 Bﬁiéﬁ + 2R 1450
=
‘ | AR 2 AL
259 R ERE E%iéﬁ ER2 1450
pay
| HiRmEs
260 R ERTE E%iéﬁ vt & 850
Py
‘ | AREm A
261 2R EHTiE B%i%ﬁ %0 BR % 1450
=
| REEA
262 £ Rk frig Egiéﬁ 2 H 7% 3407.5
=
| TRmEA
263 KR8 B%iéﬁ T 1812.5
=
_ | AR 2AL
264 R ERE Bﬁiéﬁ 5 1957.5
=
‘ | AR 24k
265 £ RERE E%iéﬁ & E K 1350
pay
| HiRmEs ‘
266 LR EHiE BREFT 1957.5

X &R & R
N




R 2 AL

267 2R JE S8 B%i%ﬁ R 1350
=
| REEA
268 £ Rk frig z%iéﬁ e 3770
=
| TRm 2
269 R ERTE E%iéﬁ oA 2900
=
_ | AR 2 AL ]
270 R ERE Bﬁiéﬁ A 2461. 51
=
‘ | AR 2 AL
271 2R )EHriE E%iéﬁ e 1957.5
pay
‘ | #iRd 2AL
272 AR EpE B%iéﬁ T3 1957.5
Py
‘ | AR A ‘
273 R EHTiE B%%&ﬁ LA 1957.5
=
| REEA
274 £ Rk frig E%iéﬁ Vo) 1812.5
=
| TRmEA
275 Z KR8 E%iéﬁ % A 3625
=
_ | AR 2AL
276 KR8 Eﬁiéﬁ KA, 1957.5
=
‘ | AR 2 AL
277 2R )EHriE E%iéﬁ FME 1450
pay
‘ | #iRd 2AL
278 R EMTIE E%iéﬁ TKF A%, 1957.5
Py
‘ | AREm A )
279 2R EHTiE B%i%ﬁ = B T 1450
=
| REEA
280 LR EAriE E%iéﬁ A 1350
=
| TRmEA
281 £ RE MG E%iéﬁ IR 3407.5
=
_ | AR EA .
282 KR8 Bﬁiéﬁ K& 1957.5
=
‘ | R AREA )
283 £ R Eprib E%iéﬁ 3 5, 2231
pay
‘ | R AREA
284 £ RERE Tk 1350

X &R & R
N




285 AR EHiE B%i%ﬁ Fp 3262.5
=
| HERAREA
286 Z K JEHriE E}%;F&é]ﬁ TR IR 4350
=
‘ HEk L
287 Z R ERTIE B%iéﬁ 3 1450
=
| #ukEa
288 R ERE Eﬁiéﬁ #HE 2459. 28
Y
L | EAREA
289 R ERTE E%iéﬁ 18R E 3262.5
pay
| #EasEm
290 AR EpE E%iéﬁ [ 4 41 3770
Y
| #area
291 KRR Eﬁiéﬁ x| kA% 5437.5
=y
292 £REAE %?ifx B &L 1957. 5
293 £R A ﬁéigg_ * 7% 1957.5
204 | £FaprE g%igg_ Bk 1957.5
205 | A% e g%igg mE A 1957.5
296 | A% e géigg T 1957.5
297 £ R AT gﬁigg Gk 1957.5
\ | AR A .
298 £ R i fiE E%Ré HRED 1084
23
o %%%ﬁﬁiﬁ
299 LK fria %iéﬁ BEF 1957.5
pay




